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Cluster: 0024 ptr; resid: 0.42; r/c: 37/51

x.range

upstream meme PSSM #1; e=0.018

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=2.9

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

14374
54960

15294
5512

39528

10567

12586

15777

18793

21744

22873

30770

33159

37556

38526

39710

41031

41194
41417

42830

42867

43251

43743

44132

45227

47402

47831

48094

49892

5000650340

50914

51604

55086

5902

769

8269

string −500 −400 −300 −200 −100 −1
44132−0.02
47402−0.07
38526−0.08

5902−0.08
49892−0.11
54960−0.13
43743−0.23
47831−0.23
45227−0.23
50340−0.35
50914−0.62
14374−0.62
22873−0.64
18793−0.83
39528−0.88
42830−1.05
15294−1.16
37556−1.18
51604−1.46
39710−1.75
48094−2.43
50006−2.60
30770−3.00
12586−3.01
21744−3.07
41194−3.16
15777−3.32
42867−3.64

769−3.72
33159−4.04
10567−4.31
43251−4.94

5512−5.42
55086−6.81
41031−8.05

8269−8.11
41417−9.72

log10(P) upstream meme1 2 log10(P.clust)=−2.46; 37 seqs; 37 uniq
c(0.5, 2.5)
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